PETE LOCKETT –  INTRODUCTION TO TABLA LESSON 4
Lets revise the set of ‘BoIs’ we have so far.

GE
Bass drum, resonant stroke,

fingered 3 or 1

KE
Bass drum closed stroke,

whole hand flat

TE
Treble drum closed sound,

fingered 3 or 1

TA
Treble drum, same as TE but all four fingers

NA
Treble drum, rim sound with index finger; second finger raised, third and fourth fingers damping

DHA             NA+GE

DHE
TE+GE

THUN          THUN + KE

TI
Second finger on treble drum, third and fourth fingers down, index finger raised. Sounds similar to TE.

We can soon start on the Laggi but first we need to look at a new BOL.
NEW SYLLABLE – DHIN

DHIN = THUN + GE

Just as before when we added the GE stroke to the NA stroke to make a new syllable, so to when we play THUN and GE together we get the syllable DHIN.  This is one of three possible DHIN strokes.  We will look at this later.  It is sometimes confusing to begin with when one comes across these ambiguous syllables.  However, just as in the English language, the puzzle is solved by a context.  For example, if you heard the word ‘through’ without a context or a spelling you would not know if it was the word ‘through’ or ‘threw’  A context would easily solve that if for example the phrase ‘threw the ball’ or ‘through the window’ was used.
LAGGI
16 beats

 
(THEME)

DHA  TI  DHA  NA     DHA  THUN  NA  NA

NA     TI  DHA  NA    DHA   DHIN   NA  NA

Variation 1

            DHA  THUN  NA  NA  DHA  THUN  NA  NA

            DHA  THUN  NA  NA  DHA  THUN  NA  NA

DHA   TI      DHA  NA  DHA  THUN  NA  NA

            NA     TI      DHA  NA  DHA   DHIN  NA  NA

            TA  THUN  NA  NA     TA     THUN  NA  NA

TA  THUN  NA  NA     TA     THUN  NA  NA 

DHA   TI      DHA  NA  DHA  THUN  NA  NA

            NA     TI      DHA  NA  DHA   DHIN   NA  NA

The basis of the next example is 3+ 3+ 3+ 3 +4 (= 16)

          Variation 2

           DHA  THUN  NA  DHA  THUN  NA  DHA  THUN  

           NA     DHA   THUN  NA DHA  DHA  THUN  NA  

           DHA   TI      DHA  NA  DHA  THUN  NA  NA

           NA     TI      DHA  NA  DHA   DHIN  NA  NA 

           TA  THUN   NA  TA   THUN  NA   TA  THUN  

           NA  TA   THUN   NA   TA   TA   THUN   NA

           DHA   TI      DHA  NA  DHA  THUN  NA  NA

           NA     TI      DHA  NA  DHA   DHIN   NA  NA 

The basis of the next example is 6+ 6 + 4 (= 16) 
           Variation 3

           DHA  TI     DHA  DHA  THUN  NA  DHA  TI
           DHA DHA THUN NA    DHA DHA THUN NA

           DHA   TI      DHA  NA  DHA  THUN  NA  NA

           NA     TI      DHA  NA  DHA   DHIN   NA  NA
           NA     TI    NA    NA   THUN   NA      NA   TI  

           NA     NA  THUN  NA   NA   NA   THUN   NA

           DHA   TI      DHA  NA  DHA  THUN  NA  NA

           NA     TI      DHA  NA  DHA   DHIN   NA  NA
           Concluding long Tihai (Chuckradah)

           DHA   TI      DHA  NA  DHA  THUN  NA  NA

           DHA   TI      DHA  NA  DHA  THUN  NA  NA  DHA -  -  -

           DHA   TI      DHA  NA  DHA  THUN  NA  NA  DHA -  -  -

           DHA   TI      DHA  NA  DHA  THUN  NA  NA  DHA -  -  -

           DHA   TI      DHA  NA  DHA  THUN  NA  NA

           DHA   TI      DHA  NA  DHA  THUN  NA  NA  DHA -  -  -

           DHA   TI      DHA  NA  DHA  THUN  NA  NA  DHA -  -  -

           DHA   TI      DHA  NA  DHA  THUN  NA  NA  DHA -  -  -

           DHA   TI      DHA  NA  DHA  THUN  NA  NA

           DHA   TI      DHA  NA  DHA  THUN  NA  NA  DHA -  -  -

           DHA   TI      DHA  NA  DHA  THUN  NA  NA  DHA -  -  -

           DHA   TI      DHA  NA  DHA  THUN  NA  NA  DHA  (Beat 1)
PATTERNS USING THE PHRASE ‘DHA TI GE NA

1 DHATIGENA   DHATIGENA  GENADHATI  DHATIGENA

2 DHATIGENA  GENADHATI   GENADHATI  GENA DHATI

3 DHATIGENA   DHATIGENA   DHATIGENA  GENADHATI

4DHATIGENA    -- DHAGENA   DHATIGENA  DHATIGENA
